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(array)(]
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scorel = 75
90
63

score?

score3
score4 = 55

scoreb 88

sum = scorel+score2+score3+score4+scoreb

print(" [II111', sum / 5 )
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score = [75, 90, 63, 55, 88]

sum = 0

for i in range(5):

[bum += score[i]

print("[IT111', sum/5)

(I




[ITl(declare)

10 = [0, 02, OB, ..... ]

[T
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score = [75, 90, 63, 55, 88]

print (score[1])
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[0 2 OO O I
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score = [
[85, 67, 90],
[75, 90, 63],
[71, 55, 81],
[65, 91, 70],
[45, 80, 53]



I [85, 67, 90 I M T T I T T T T T - (T
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(I score[2][1]ITTTITO

(T

0TI OTIR]

[T

TS O]
for i in range(5):
sum=0
for j in range(3):

sum += score[i][j]

print(i+1, " [TTTTTITI', sum/3)

[0 3 0 MO S O TS O T

[0 4 O O

(005 0 T

Revision #10
Created 30 November 2020 00:22:57 by CSG
Updated 10 December 2022 15:04:18 by CSG



